
11.1 Inference about Two Population Proportions    MATH 241  THOMPSON 
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       189/582 = 0.3247       202/583 = 0.3465 

            smaller one(larger decimal) on the right 

 

 

 

 

 

 

 

STATS- PROPORTION  STATS – TWO SAMPLE -WITH SUMMARY      

      .3465 - .3247 = 0.0218 

 

 

   

     

      mean is always 0 

          greater than from problem 

 

 

 

 

 

 

 



  STATS- PROPORTION  STATS – TWO SAMPLE -WITH SUMMARY      
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       429/1100 = 0.39       363/1100 = 0.33 

 

  STATS- PROPORTION  STATS – TWO SAMPLE -WITH SUMMARY      

 

 

 



 

 

 

 

 

 

         Change inequality direction for the P-value 
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      STATS- PROPORTION STATS – TWO SAMPLE - 

          WITH SUMMARY 

 

 

 

 

      Change inequality direction for the P-value 
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 lower and upper bound – confidence interval  sufficient?? – Hypothesis test 
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         STAT-PROPORTION STATS-TWO SAMPLE 

        POWER/SAMPLE SIZE –confidence interval  

     from three % points       

     Width=0.03x2=0.06 

  

 

 

 

 

No estimates – target = 0.5, make sure  

to reset the width to 0.06 again       

                  1363 

 

       2135 
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EXTRA EXAMPLES 

 

 

 

 

 

 

 

 

 

 

        Use proportion two sample summary 

        to get p then divide the answer by 2 

  Most p-values are .000 if this formula does not work 

 

 

 

  

                

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

         P-value ---two sample proportion 

      Sample 1 errors of neutral network 445+27=472   

      Sample 2 errors 375+27=402     

    
|375−445|−1

√375+445
= 2.41   

   

  make sure |x| is positive answer         375+27=402  

   

 

            TOTAL = 9420 


